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[oLd] Simple Probability

N ot ation.
Pbability of an event = P(event)

Formula:
Plevent) = # of celected,
Total amomnt

[Examples] Marca has & ba PZ&L of marbles — 4 red, marbles, §
grey marbles, 3 blie marbles, 5 yellw marbles.

O V#‘?ﬁ“ the Lﬁrobﬂo;ti@ that Marie peds a blue marble?
S

@ What's the probabiliy that Marie pd< a grey marble”

? N\W‘u"— + ,&_ -2 -
(ﬁmﬂ ) NG 0.4
@W\«\a{iﬁs Jctie ?rohrﬂaitig that Marie pedks a red marble?
F([‘e Mar 65’2—6:—5-2.2
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hew- A | Sample Space

—

*Sample Space - the set of all pussible outumes for an, event.
“The universe”.

(Example) Let's ongider a dice. Whatis the camyle space for
this ohect,

—

I S i N e poss: ble bwtComes

14,23 45,0y <= Sungl

+ Subset — o part of the sample space (uncverse).

(Example) Let's onguder a dice. What s the sample space fr
‘H\is?vb}ea’a s

S| gy 7 [ possible outcrmes
However, only ke tndy Congideradion the even outcomes.
A ENE — 3pussibilrhes of the

b possible puttimes
%2,4(,(,,} C - symbol for

Swhset.

£2,4,6) C 61,2,3,‘55, bY
“2,4,b s wswhset of 1,2,34)5,b,
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COMPOUND EVENTS - combines 2 or Morf\. evenf using the
W \) 7] " ]
ot ot l'onj ord “and” or the wor 0; ) B

n

« AUR _“:‘Mor:fon” — every thing in both gets

A B

*ANB —eh ol whad Cs common
f ercectn "~ g L Lo (»

A B
* A" — complement or oppostte) — exensthing NOT (n set A

[Examole] Consider seb blue % seb red.
Db Vied={1,2 9,21,4,5.1,3,9)
@bue N Red = $3, 93
3) Blue’ :%\,5,10, 0,3) 63

sef Blue set Red

® @lue URed) = {6, F)
© (Blue NRed)’ =1,2,8,11, 4,5, 10,0, 7Y

@ red=§1,2381239,67Y
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[E)W{)[e] Consider seb Keener & set Keener  set Colling
set Collins.

() Keener (\Colling = S\M, LY 0

(2) Keener'= IMLCO.P, Q)

(3) Keener U Gelling =5 #,£,5,6,0, ML

@ Cihans’ = ML, 4,k 5, B,

(S) (Keener N\Collins)' = )'=4C0,h K80 Q)

O pleere)= 5 = 5 - gu,

® P (Coling) = _;r_ . T 4%

® Plrcener)= & - T = (L L4

hew - B] Compound Pobabilipy

Compound. Probabileby ~ the probability of 2 or more events
ki i Wiag the wrd- AL A

"—U > P(A)UPMR = PR +Pp)
ok =\ — P(R) N P(B) = P(R) *P(B)

PQ
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(Examples] Marin has a ba [ﬁﬂ of marbles — 4 red, marbles, §
grey marbles, 3%0 marbles, 5 yellw marbles.

M) What’s the ro\oaJouldB Marias will get o blue marble or a
5(% marb le ?

P(blue) or P(grey) = Plblue) + Plovey) =3 8 _ 19 AL - c5

20 20
T

@ \What’s the 'D‘Dﬂbbllf% Marin wi L@?JC A led, marble and o
Yelliw mnrbe

(md) and P(\v,cllm) = P(red) (\P(ggellﬁw) =§_D S b _% - 05
Qo)
(3) What's the probabilvty Mario will get 2 gey martles?
P d Plgrey) = § 14 ]
(ﬂmﬂ>““ groy) ?9*286 = E_lb

Bl
NS

(4) \What's the probabi|chy Marias will not aet blue marbles”
P(blve’)= ‘Tﬂ_ﬁz 12_3 = 35

@ \Whad’s the PYO\oabLMB Mari Will, omnje NMblfS
Plomg) = 0 - pg,
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new -C| Mty Exclusive & Olerlapping

« Mutually Exclusive = 2. or mve dmulbaneons events that
have no Comwen Owtiomes.

(Example)  _Set Nubers seb Letberc

NO comymon. gutcomes!

Let's consider A deck of-cards. .
52 4t cards | 4 suils, 13 cards ineadh swit

het i the polutiliy Bt Wy gefs & King or gobs n Ac
—> Mutually Exclustve = no common oufowes %ﬁ@ﬁéﬁg\%‘g
o (€ e

P(kig) or PAce) = plking) t Flhe) = 4, 472 % .2 |
S2 |1 952 82 | 137

&

. OverLaP\omﬂ — W?L“ts Hit have at least pne comm on
outcome .

(Example) |54 Wy, vl
%S

)L , Commm. Outomes
¢9, /L ?g; o

B, 14,15
5, 0
6,13 K el
9 u,Ly
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Let’s consider A deck of-cards.
52 4atal cards , 4 swits, 13 cards ineadn i
?

What s the pmbab L(fy that MMa 51:#5 abheart or 5&'[79 & Aces

7 Overlapping Everts = Ace thats heart N‘:\A@ J;‘”o“fmh\'
A &

P(heart) or P(Ace) = Plheart) + Plfe) = 13 13 .
(heaxt) or P (heart) ) = 552_1)_) L 51

=2

a3l
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